Answers

Worksheet 1
1)4+2=2

50+10=5
100+10=10
90+10=9
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0+10=2
46+3=15R1
10+-11=10
0+3=30
3+5=4R3
5+12=1R3
0+5=6
0+10=8
3+-7=1R6
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3)90+10=9
+2=28R1
+4=16
6)22+-11=2
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Worksheet 2
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Worksheet 6
1)664+7=94R6
2)35+7=5
3)552+12=46
4)36+4=9
5)33+11=3
6)714+5=142R4
7)648+5=129R3
8)876+5=175R1
)127 10=12R7
10)312+-10=31R2
1)508+4=127
12)84+:12=7
3)702+12=58R6
4)18+3=6
5)616+8=77
6)980+4=245

Worksheet 3

Worksheet 7
1)6276+-11=570R6
2)4203+3=1401

3)7969+5=1593R4
4)6413+4=1603R1
5)2348+2=1174

6)1472+12=122R8
7)7000+10=700

8)9500+8=1187R4
)

9 849+12=154R1
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10)7073+10=707R3
1)4697+4=1174R1
12)4427+10=442R7
3)1407+11=127R10
4)6432+11=584R8
)
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5)3564+2=1782
6)3290+7=470

Worksheet 4
1)16+4=4
2)10+10=1
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